N of associated (recoToSim) looper tracks vs normalized X’

recoToSim) tracks vs normalized x?

[{

[N o associated

[N of reco track vs normalized x2 ]

16 18 20
track x?

14

0.5
o

= o o
= =

Soel} e} oney syoel) axyey oney

4
18 20

track x2

16

8 10 12 14

%l_sq%‘gget%ﬂar-gh asel-newgeom

TOTT

as
ew!

RS
thar
quar

AL WP
B3

o
=1

syoes ang

0 2 4 6
il

1S

Ly
™ =) —

e
2

2

syoesy angy

i

Blalseties

i
em

18 20
Tt —Ste]

ERE

track x2

2 4 6 8 10 12 14 16
[ Nofreco track vs. 4 ————

<
(=]
-

syoen

B

syoen oney



	Contents
	Page 1


